2011 AEHUKFR[4] S [4] i@

~ 1) , 1) 1) , 1)
pg-pnsy (a2 (a2 (2] o[

2 1. 4 1 -, 1 o 1 0 1, 1 a1 5 a1
a‘—a+=+a —=a"+—=="-f+-+p —-=p°+—= a"+-a " —a=p"+=p" -
4 2 16 pr-F 4 p Zﬂ 16 2 p Zﬂ p

(@ - F) 3@ )= =0 (=) a7 § )10
azpf £V .‘.(a+,8)(a2+,6’2+%j=1 —O

a+ﬂ+1 012+/32+1 . .
X = 2y= 410 qrpe3X -t alipiody
3 3 2 4

OIZfRAT B & (3X—%)(3Y+%j=l Y>0kD, 3X—%>0f‘f£ﬁmi@%f;u\7ﬁ>%

3Y+%= ! nY = 1 __1_ 1 1 —®

3x -1 ox — 3 12 ofx_1) 12
2 2 6

—J. s=a+B t=af tTDHE a?+p=s>-2t=3 —% .'.t=%( 2—3Y+%)

a, fITZIRGREAX? —sx+t=0 DIIER D 2 FHIE TH L7 5

D=s? —4t=s? —2(52 -3y +%)=—sz+6Y—%>0

2 2
.'.Y>lsz+i:1(3X—1j +i=§(X—lj +i —®
6 12 6 2) 1272 6) 12
@, @OFRTFTLHLEAMD LT D, o { o
\ \ A Ll Yy=X
ZHNELY., KD DG ORI ‘ ‘ ' L
y= 1 _i[l<x<lj ...... (%)
( g 126 2
9l x—=
6
(1)
G OEBFA y > x> ORIAICH D = L I 7203, o
BHR 72 R ALV SRR D AEE SR K 0 RS 5, x=1
2 3 17 1 s(101Y), . .
— = _ — — I, K| =, = |28V itz M o
y=x’ty Z(X 6] +125;’E (2 4)6 BWTHEREIET D



